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( B )5. There was % of a pizza on the table. John ate some of the pizza.
There was % of the pizza left in the end. What fraction of the pizza

did John eat? (A) 3 (B) % (©) % (D) %
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( D )10. The area of square A is 45 cm” bigger than
the area of square B. The length of the side of square B is
cm. (A)Secm (B)7cm (C)9¢cm  (D)6cm
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( C )I15. Cathy wrote a set of four digits on the blackboard. The sum of the
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( C )20. r98.72=90+8%+i 1 What is the missing number?
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3.The length of a rectangular piece of paper is 30 cm longer than its width.
The piece of paper can be divded into 24 equal squares of side 6 cm. Find the
length and the width of the rectangular piece of paper.
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